
Figure: 30 TAC §115.460(b)(12)  
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Where:  

 

PPc = The volatile organic compound (VOC) composite partial vapor pressure of a solution at 20 
degrees Celsius in millimeters of mercury (mmHg)  

Wi = The weight of VOCi in grams (g)  

MWi = The molecular weight of VOCi in g per g-mole  

VPi = The vapor pressure of VOCi at 20 degrees Celsius in mmHg  

Ww = The weight of water in g  

MWw = The molecular weight of water in g per g-mole  

We = The weight of non-water exempt compound e in g  

MWe = The molecular weight of non-water exempt compound e in g per g-mole 

 


